
	
  
	
  	
  	
  	
  	
  	
  
	
  

1. Conjuntos	
  cuyos	
  puntos	
  cumplen	
  una	
  única	
  condición	
  
	
  
a)	
  	
  	
  	
  𝐴 = {   𝑥,𝑦 :  𝑥 = 3}	
  
	
  

• El	
  lugar	
  geométrico	
  A	
  es	
  un	
  conjunto	
  de	
  puntos	
  de	
  R2	
  .	
  
• Observe	
  que	
  P	
  está	
  escrito	
  de	
  la	
  forma	
  (x,	
  y)	
  
• Los	
  puntos	
  de	
  A	
  cumplen	
  una	
  única	
  condición	
  y	
  es	
  que	
  x=3	
  

	
  
Antes	
  de	
  seguir	
  te	
  proponemos	
  que	
  respondas	
  las	
  siguientes	
  preguntas	
  
	
  
https://forms.gle/yt5cW7upxzzJ2E4N9	
  
	
  
Para	
  graficar	
  el	
  conjunto	
  A	
  lo	
  hacemos	
  en	
  el	
  plano	
  coordenado.	
  
	
  

	
  
	
  
b)	
      𝐵 = {   𝑥,𝑦 :    2𝑥 + 𝑦 = 4}	
  
	
  

• 	
  El	
  lugar	
  geométrico	
  B	
  es	
  un	
  conjunto	
  de	
  puntos	
  de	
  R2	
  .	
  
	
  

Unas	
  preguntas	
  antes	
  de	
  seguir	
  	
  
https://forms.gle/ouLfnxgmS4DHm9sf9	
  
	
  
	
  
El	
  gráfico	
  de	
  B,	
  es	
  una	
  recta.	
  Para	
  graficar	
  despejamos	
  y	
  y	
  obtenemos	
  𝑦 = 4− 2𝑥	
  
	
  

Recordemos	
  la	
  
siguiente	
  
definición	
  

En	
  este	
  documento	
  vas	
  a	
  encontrar	
  material	
  para	
  resolver	
  el	
  Ej.3)	
  del	
  Capítulo	
  2	
  pp.27	
  .	
  Vas	
  a	
  
encontrar	
  ejemplos	
  y	
  están	
  resueltos	
  el	
  3)	
  a)	
  y	
  b).	
  	
  	
  



	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
c)	
  Dados	
  los	
  siguientes	
  conjuntos	
  𝐶! = {   𝑥,𝑦 :    2𝑥 + 𝑦 ≥ 4}	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  𝐶! = {   𝑥,𝑦 :    2𝑥 + 𝑦 < 4}	
  
	
  
Cuando	
  la	
  condición	
  es	
  una	
  desigualdad	
  el	
  gráfico	
  es	
  una	
  región	
  del	
  plano,	
  que	
  en	
  
estos	
  casos	
  está	
  limitada	
  por	
  la	
  recta	
  2x+y=4(recordá	
  que	
  graficamos	
  	
  y=4-­‐2x)	
  
De	
  esta	
  manera	
  la	
  recta	
  divide	
  al	
  plano	
  en	
  dos	
  partes.	
  Los	
  puntos	
  del	
  plano	
  que	
  
están	
  “arriba”	
  de	
  la	
  recta	
  cumplen	
  𝑦 > 4− 2𝑥	
  .	
  Los	
  puntos	
  del	
  plano	
  que	
  están	
  
“abajo”	
  de	
  la	
  recta	
  cumplen	
  𝑦 < 4− 2𝑥	
  .	
  	
  
	
  
	
  

. 	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  
𝐶!	
  es	
  el	
  conjunto	
  del	
  plano	
  sombreado.	
  Como	
  en	
  𝐶!	
  la	
  desigualdad	
  incluye	
  la	
  
igualdad,	
  se	
  marca	
  la	
  recta.	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  

	
  
	
  
	
  𝐶!	
  es	
  el	
  conjunto	
  del	
  plano	
  sombreado	
  	
  	
  	
  
Como	
  en	
  𝐶!	
  la	
  desigualdad	
  no	
  contiene	
  la	
  igualdad	
  la	
  recta	
  se	
  marca	
  punteada.	
  
	
  

Están	
  graficados	
  también	
  
los	
  puntos	
  (1,2)	
  y	
  (-­‐1,1)	
  
que	
  aparecieron	
  en	
  las	
  
preguntas	
  anteriores	
  

El	
  punto	
  (3,4)	
  es	
  un	
  elemento	
  de	
  
  𝐶!.	
  
¿Cómo	
  lo	
  determina	
  gráficamente?	
  
¿y	
  usando	
  la	
  condición?	
  
¿El	
  punto	
  (1,2)	
  está	
  en	
    𝐶!?	
  

	
  

Busque	
  un	
  punto	
  que	
  
pertenezca	
  a	
  	
  𝐶!	
  
Muestre	
  que	
  pertenece	
  gráfico	
  y	
  
que	
  cumple	
  la	
  condición.	
  
¿El	
  punto	
  (1,2)	
  pertenece	
  a	
  𝐶!?	
  



	
  
	
  

2. Conjuntos	
  cuyos	
  elementos	
  cumplen	
  más	
  de	
  una	
  condición	
  
	
  

Los	
  puntos	
  de	
  un	
  conjunto	
  pueden	
  cumplir	
  más	
  de	
  una	
  condición,	
  las	
  mismas	
  
estarán	
  separada	
  por	
  los	
  símbolos	
  	
  ∧    ,      ∨.	
  
Importante:	
  
	
  

	
  
	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
   	
  
	
  
	
  
a)	
  	
  Sean	
  los	
  conjuntos	
  	
  𝐴 = {   𝑥,𝑦 :  𝑥 = 3   ∧   𝑦 = 1}	
  	
  	
  y	
  	
  	
  𝐵 = {   𝑥,𝑦 :  𝑥 = 3 ∨ 𝑦 = 1}	
  
	
  
	
  
	
  ¿Cuáles	
  son	
  las	
  condiciones	
  que	
  deben	
  cumplir	
  los	
  puntos	
  de	
  A?	
  ¿y	
  los	
  de	
  B?	
  
	
  
Antes	
  de	
  seguir	
  te	
  proponemos	
  la	
  siguiente	
  actividad	
  
	
  
https://forms.gle/owy7vGSC8aeiQJCy8	
  
	
  
Gráfico	
  de	
  A	
  
	
  

	
  
	
  
	
  
Gráfico	
  del	
  conjunto	
  B	
  
	
  

	
  

El	
  conjunto	
  A	
  tiene	
  un	
  único	
  elemento	
  

Los	
  puntos	
  de	
  B	
  se	
  encuentran	
  en	
  la	
  rectas	
  rojas	
  



	
  
	
  
b)	
  𝐶 = {   𝑥,𝑦 :    2𝑥 + 𝑦 ≥ 4   ∧       𝑦 < 𝑥  }	
  
	
  

• Los	
  puntos	
  de	
  C	
  cumplen	
  dos	
  condiciones.	
  
• Cada	
  condición	
  es	
  una	
  desigualdad,	
  por	
  lo	
  tanto	
  son	
  ”regiones	
  del	
  plano”.	
  
• Las	
  condiciones	
  están	
  vinculadas	
  con	
  ∧.	
  Significa	
  que	
  se	
  tienen	
  que	
  cumplir	
  

las	
  dos	
  condiciones	
  de	
  manera	
  simultánea.	
  
• El	
  gráfico	
  de	
  C	
  es	
  la	
  intersección	
  de	
  los	
  gráficos	
  de	
  ambas	
  regiones.	
  

	
  

	
  	
  	
  	
  	
   	
  
	
  
	
  
Si	
  las	
  dibujamos	
  simultánemente	
  en	
  el	
  plano	
  obtenemos:	
  

	
  
	
  

	
  
	
  
Como	
   las	
   condiciones	
   están	
  vinculadas	
   con	
  el	
  ∧	
  	
   ,	
   el	
   gráfico	
  de	
  C	
   es	
   la	
   región	
  del	
  
plano	
  donde	
  se	
  superponen	
  ambos	
  gráficos.	
  

	
  

	
  
	
  
	
  



	
  
c)	
  ¿Cómo	
  quedaría	
  el	
  gráfico	
  de	
  C	
  	
  si	
  las	
  condiciones	
  estarían	
  	
  vinculadas	
  por	
  ∨?	
  
	
  
Llamemos	
  D	
  a	
  dicho	
  conjunto	
  
	
  

𝐷 = {   𝑥,𝑦 :    2𝑥 + 𝑦 ≥ 4   ∨     𝑦 < 𝑥  }	
  
	
  
Como	
  las	
  condiciones	
  están	
  vinculadas	
  con	
  ∨,	
  los	
  puntos	
  pueden	
  cumplir	
  una	
  de	
  las	
  
condiciones	
  o	
  las	
  dos.	
  	
  

	
  
	
  
	
  	
  
	
  
	
  
	
  
	
  Gráfico	
  de	
  D:	
  

	
  

Entonces	
  si	
  representamos	
  las	
  dos	
  condiciones.	
  
El	
  conjunto	
  D	
  es	
  la	
  unión	
  de	
  ambas	
  regiones	
  


